Division par 0,001 (I)

Trouvez chaque quotient.

2-+0,001= 9,49 - 0,001 =
5,7627 - 0,001 = 6,143 = 0,001 =
9,9869 = 0,001 = 9,801 + 0,001 =
5476 = 0,001 = 8,078 + 0,001 =
1,804 +- 0,001 = 3,44 +- 0,001 =
5,353+ 0,001 = 6,1823 = 0,001 =
9,9896 = 0,001 = 9,4046 + 0,001 =
8,23 + 0,001 = 3,1+0,001=
2,1+0,001= 9,7+ 0,001 =
3,581 + 0,001 = 57+0,001=
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Division par 0,001 (I) Solutions

Trouvez chaque quotient.

2-+0,001=2000

5,7627 = 0,001 =5762,7

9,9869 =+ 0,001 =9 986,9

5476 + 0,001 =5476

1,804 =+ 0,001 =1 804

5,353+ 0,001 =5 353

9,9896 =+ 0,001 =9 989,6

8,23 + 0,001 =8 230

2,1+0,001=2100

3,581 + 0,001 =3 581

9,49 = 0,001 =9 490

6,143 + 0,001 = 6 143

9,801 + 0,001 =9801

8,078 + 0,001 =8078

3,44 + 0,001 = 3 440

6,1823 +- 0,001 =6 182,3

9,4046 - 0,001 =9 404,6

3,1+0,001 =3100

9,7+ 0,001 =9700

57+0,001=5700
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